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@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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O x+y=25
® x+2x=25

® x+25=2x

@ x+(x+1)=25
@ x=2x
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DO x+4=44+x-9 @ 4x+9 = 4x
® 10x+4=4x-9 @ 10x+4=404+x-9

® 10x+4=40+x+9
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D 20x+x=10x+x—-18
@ 2x+x=10x+2x+18
® 20x+ x = 10x + 2x + 18

@ 10x+x+18=x+10

® 104+x+2x=x+18+2x
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@ 454+x=39+x @ 454+ x =13+ 3x

® 45 =3(13 + x) @ 454+ x=2(13 +x)

® 45+ x=3(13 + x)



12. 23 ofu{u ] toli= 53 A, oF5 9] toli= 17 Alo]e}. @ | Ho]
ofuj Ll o] o] 7} ob5 0] Lol o] 4 w7} wgli=x] Fatedat.

e = d



13.

Fhzet Aol ol o] ul7hs ;3 Q) Aol

A22] ZAo)7t 712 9] Ao]H Tt 20cm T
18 Fatol.

B -



14. 30% AlL-S 5H= 27HAI1 A 32900 Yol -2 4ttt o] 29| A7tE
“Fato2t.

. (e}
S EEE <



[e]
EE{)‘E‘

L Alo
- TI—

]_

<]

St
=

ZHA A QI Efol w7 el
xHolzt

o] 74 o] BAjo] 73 £9] % w7}
w, 7

o) e}
’d’é‘
K
i B
=]

@ 2700 — x = 4000 — x

@® 2700 — x = 2 x 2000

2(2000 — x)

@ 2700 — x

® 2700 — x = 2000 — x

® 2700 — 2x = 2000 — 2x
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 0.05x—0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
® 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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